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1.1 USB B RS232 fUFE 5L 2
1.2  Multiplexing BY 5 ?
1.3 Remote Method Invocation (RMI)ESfA] ?
14 Secure Sockets Layer (88L) fyEHM?
1.5 Methods (of classes)B functions BYFERRE 7
1.6 Exception handling (B R ? i -
1.7 Event handling RYE R ?
1.8 Array B8 Linked list fJRTEEER{R ?
1.9 Sliding window B 7
10 XML 2285 HETes tags 7
1.11 {A/58 Internet &Y best effort 7
1.12 GRH{—I C language ¥ Fava OFHREE -
1.13 B — TSR R A RS 1 -
1.14 10BaseT AR e 2
1.15 R RREREREET - EX AR ?
1.16 AR 2EAY metadata 7
1.17 S8 software agents B = (R BG4 -
1.18 {39 SEITTP ?
1.19 {+RER Smart Card ?
1.20 X.500 By ERYEE ?
1.21 B Web site FRIETHENH SQL server £ licence ABTREEEREL ¢
1.22 £{a] Modem 8 {48 T EE1838 33.6Kbps 7
1.23 SET X BB ENFEERSHE ?
1.24 Java EAFE SRS T EHERE ¢
1.25 {dJ3F Webcasting ?
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2.3 (5% R Unix 3% Microsoft Windows {FEZHRE - EEEREHIDAER G
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= ~ {15%) Suppose the following characters I, C,D, M, P, 8, A, B, G, U, W, N, X, V
! are mgerted into an empty binary search tree one by one. Let the resulting tree
be called as T.
a.  Pleaseshow tree T.
b.  Suppose we delete the roof from tree T, and let the resulting tree be called

7'. Please show tree T°.
¢.  Please show the post-order traversal sequence of 7,
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BY -~ (10%) Please give an example with 8 data to explain how the worst case happens
for the quick sort, Further, please show the worst case time complexity of guick
sort for » data.



